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S.FIRME = 4.98 m2.
S.DTIERRA= 58.58 m2. S.FIRME = 4.97 m2.
kKm O+190 S.DTIERRA = 37.87 m2.
km J+3°0 S.FIRME = 5.46 m2.
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S. TERRAPLEN = 41.56 m2. S. TERRAPLEN = 10.38 m2.
km U+670 R 3503048 km U+800
CR: 3501828 10 0 10 15 15 10 0 10 13
3505 3505 3503 3503
— B
3503 EF3506030° 3503 3500 —EEs5perst—— 3500
3500 13500 3408 |—— 3408
3408 3498 3495 3495
15 10 0 10 15 15 10 0 10 13
S.FIRME = 5.48 m2.
S. TERRAPLEN = 33.98 me2. S.FIRME = 4.99 m2.
S. TERRAPLEN = 18.71 m2.
CR: 3508175 km U+66U CR: 3503.260 L 4790
seosle 10 0 0 15 M
505 505
15 10 0 10 13
3503 EF3506643 | 3503 3503 F5506:234——— 3503
3500 3500 3500 -~ ——1 l3500
3408 3498 3498 L— 3498
15 10 0 10 15 15 10 0 10 13
S.FIRME = 5.76 m2. S.FIRME = 4.98 m2.
I gégERQHPLEN: 26.37 m2. e Ao e S. TERRAPLEN =  8.22 m2.
R: 3508. R: 3503.48
km U+650 km U+ /80
15 10 0 10 15 13 10 0 10 13
3505 3504342 3505 3503 EFa5pe8s 3503
N ——

3503 ———— 3503 3500 — —— 3500
3500 3500 3498 3498
15 10 0 10 15 13 10 0 10 13

S.FIRME = 5.82 m2. S.FIRME = 4.98 m2.
e 00070 S. TERRAPLEN = 19.32 m2. I S. TERRAPLEN =  8.72 m2.
km U+640 km U+ /70
13 10 0 10 13 13 10 o 10 13
3505 -CF350260¢ 3505 3503 ST850e300 3503
P60+ — T
3503 3503 3500 F—f— — 3500
3500 3500 3408 3498
13 10 0 10 13 13 10 0 10 13
S.FIRME = 5.59 m2. S.FIRME = 4.98 m2.
S. TERRAPLEN =  9.28 m2. S. TERRAPLEN = 11.5@ m2.
CR: 3509.510
km U+620 R 2503057 km U+ /60U
- 13 10 0 10 133 . . 0313 10 0 10 133 o
505 3563084 505 5 3500254 5
] ey PEAEESSL S ———

3503 R ———1 3503 3500 |— —_ 3500
3500 3500 3498 3498
13 10 0 10 13 13 10 0 10 13

S.FIRME = 5.45m2.
S. E TIERRA= ©.05m2. S.FIRME = 4.98 m2.
S. TERRAPLEN = (6. : S. TERRAPLEN = 15.38 m2.
CR: 3509.899 RT3 6B
13 10 0 10 13 CR: 3504.151 km UJ+ /700U
3508 3508 13 10 0 10 13
3505 ——&F35 % — 3505 3503 ;;a:/// 3503
3503 —1 3503 3500 —— 3500
3500 3500 3498 3498
13 10 0 10 13 13 10 0 10 13
S.FIRME = 5.46 m2.
S. TERRAPLEN = 9.66 m2. S.FIRME = 4.99 m2.
S. TERRAPLEN = 19.54 m2.
CR: 3510.072 km U+o8U
13 10 0 10 13 CR: 3504.598 km U+ 74U
3508 3508 15 10 0 10 13
T I IV ATV O T L atlolal
3503 — 3503 3500 ——— 3500
3500 3500 3498 3498
13 10 0 10 13 15 10 0 10 13
S.FIRME = 4.98 m2.
S.FIRME =  5.46 m2. S. TERRAPLEN = 23.99 m2.
S. TERRAPLEN = 11.82 m2.
CR: 3510.230 L m D456 CR: 3505.045 km U+ /30
m 15 10 0 10 13
13 10 0 10 15 3505 3505
3508 3504204 3508 3503 T-3489.047 3503
_  —E— —

3505 = 35% 3500 ——— 3500
3503 3503 3408 3498
13 10 0 10 15 15 10 0 10 13

S.FIRME = 4.90 m2.
S.FIRME = 5.46 m2. S. TERRAPLEN = 31.89 m2.
S. TERRAPLEN = 13.70 m2.
CR: 3510.374 CR: 3505.492 km U+ /720
km J+o4 15 10 0 10 15
13 10 0 10 13 3505 3505
3508 3504556 3508 3503 £T- 3459657 3503
R E— |
3505 = 1 3505 3500 e 3500
3503 3503 3408 3408
13 10 0 10 13 15 10 0 10 15

S.FIRME = 5.49 m2.
S.DTIERRA= 35.53m2.
km 1+W8BY
15 10 0 10 13
3503 — 3503
\
3500 T 3506763————= 3500
3498 34908
3495 3495
15 10 0 10 13
S.FIRME = 5.49 m2.
S.DTIERRA = 3@.55m?.
km 1+WBY
15 10 0 10 13
3503 ] 35 7To0 3503
3500 ENE— ——— 3500
S
3498 34908
15 10 0 10 13
S.FIRME = 5.49 m?2
. :BOOQOS.DTIEQQH: 28.35 m2.
R: 3500.901
km 1+041)
13 10 0 10 13
3503 — F-3506-826 3503
3500 — ———1 3500
S
3498 3498
13 10 0 10 13
S.FIRME = 5.49 m?2
S.DTIERRA = 25.34 m2.
CR: 3500.993
km 1+U2Y
13 10 0 10 13
3503 T 3506786 3503
3500 ———1 3500
3498 34908
13 10 0 10 13
S.FIRME = 5.35m?2
S.DTIERRA= 7.8 m2
CR: 3501.086
km 1+
13 10 0 10
3503 34595499 3503
3500 1 3500
3498 3498
13 10 0 10
S.FIRME = 5.47 m?2
S.DTIERRA= 5.29m?
S. TERRAPLFN =
CR: 3501.185 KO+ 880r
13 10 0 10 13
3503 T 3400475 3503
3500 —fF—— e 3500
3498 1 3408
13 10 0 10 13
S.FIRME = 5.49 m?2
e 01 0 S.DTIERRA = 12.34 m2.
R: 3501.
km U+3960U
13 10 0 10 13
3503 — 3506286 3503
3500 F——— ——+— 3500
3498 3498
13 10 0 10 13
S.FIRME = 5.49m2
S.DTIERRA = 17.09 m2
CR: 3501.408 km U+340
13 10 0 10 13
3503 —T——6F3500:869 3503
\\
3500 3500
3498 3408
13 10 0 10 13
S.FIRME = 5.49 m2.
S.DTIERRA = 27.46 m2.
km U+3920
CR: 3501532 10 0 10 13
3505 3505
3603 ————=—6F=85p4874——— 3503
3500 —1 3500
3498 3498
15 10 0 10 13
S.FIRME = 5.49 m2.
S.DTIERRA = 37.44 m2.
km U+39000
CR: 3501.666 10 0 10 13
3505 3505
3503 (———F——FF=35peFr=——-1— 3503
3500 3500
3498 3498
15 10 0 10 13
S.FIRME = 5.51 m2.
S.D TIERRA = 44.84 m2.
km U+3880
CR: 3501808 10 0 10 13
3505 3505
3503 — eF35h3d7e—- | | 3503
3500 = 3500
3498 3498
15 10 0 10 13
S.FIRME = 5.77 m2
S.DTIERRA = 35.18 m2.
km U+860U
CR: 3501.9568 10 0 10 15
3505 3505
3503 |———fF—350308—~2——— 3503
3500 —— > 3500
3498 34908
13 10 0 10 15
S.FIRME = 5.81m2.
S.DTIERRA = 27.41 m2.
km U+820
CR: 3502.119 13 10 0 10 15
3505 3505
3503 T 3562566———— | 3503
3500 1 X \ 3500
3498 3408
13 10 0 10 15

S.FIRME = 5.49 m2.
S.DTIERRA = 13.46 m2
km [+340
13 10 0 10 13
3495 T 3400544 3495
3493 — 3493
3490 3490
13 10 0 10 13
S.FIRME = 5.4 m2.
S.DTIERRA= 8.58 m2.
km [+320U
13 10 0 10 13
3495 T 34092939 3495
3493 ——F— 3493
3490 3490
13 10 0 10 13
S.FIRME = 5.43 m2.
e snos s S.DTIFRRA= 8.19m?.
R: 3408.
km 1+ 300
13 10 0 10 13
3495 34 3.\) T 3495
3493 —fF—— 3493
3490 3490
13 10 0 10 13
S.FIRME = 5.4 m2.
S.DTIERRA= 8.32m?2.
CR: 3498.858
km 1+280
» 13 10 CT: 3494.328 10 133 .
495 : 495
3493 I - —— [ 3493
13 10 0 10 13
S.FIRME = 5.49m2.
S.DTIERRA= 13.61m2.
CR: 3490048 km 1+260
13 10 0 10 13
3498 T 3495439 3498
3495 — 3495
3493 3493
13 10 0 10 13
S.FIRME = 5.4 m2.
S.DTIERRA = 22.47 m2.
CR: 3499.233 km [+240
13 10 0 10 13
3498 — T 340680 — 3498
3495 3495
3493 3493
13 10 0 10 13
S.FIRME = 5.4 m2.
S.DTIERRA= 31.23m2.
km [+220U
CR: 3490.4438 10 0 10 13
3500 3500
3498 FSAP o5 3498
3495 S ——— 3495
3493 3493
13 10 0 10 13
S.FIRME = 5.49m2.
S.DTIFRRA = 38.58 m2.
CR: 3499.604 km [+
15 10 0 10 13
3500 T 3400640 3500
N A i s S
3498 — 3408
3495 3495
15 10 0 10 13
S.FIRME = 5.43m2.
S.DTIERRA = 48.60 m2
km 1+18U
CR: 3499389 10 0 10 15
3503 3503
3500 Frametiie 3500
3498 3498
3495 3495
15 10 0 10 15
S.FIRME = 5.43 m2.
S.DTIERRA = 55.64 m2.
km 1+160
CR: 3499874 10 0 10 15
3503 - 3503
3500 T 3550826————— 3500
3498 3498
3495 3495
15 10 0 10 15
S.FIRME = 5.4 m2.
S.DTIERRA = 57.21 m2.
CR: 3500.160 km 1+14U
15 10 0 10 15
3503 3503
3500 350445 3500
3498 3498
3495 3495
15 10 0 10 15
S.FIRME = 5.49m2.
S.DTIERRA = 48.89 m2.
km 1+12U
CR: 3500346 10 0 10 13
3505 3505
3503 |——* 3503
3500 CT3501026 3500
3498 —_—t 3498
3495 3495
15 10 0 10 13
S.FIRME = 5.43m2.
S.DTIERRA= 40.25 m2.
CR: 3500530 km 1+10U
15 10 0 10 13
3503 — 3503
—— ]
3500 cT-35668722 3500
3498 — 3498
3495 3495
15 10 0 10 13

S.FIRME = 4.96 m2.
S.DTIERRA = 28.41 m2.
km 1+500
13 10 0 10 13
3488 —=———EF343F3F —— 3488
3485 = 3485
3483 3483
13 10 0 10 13
S.FIRME = 4.96 m2.
S.DTIERRA = 26.893 m2.
km 1+480
13 10 0 10 13
3490 T—34B38:094 3490
3488 |— ———1 3488
///_\
3485 3485
13 10 0 10 13
S.FIRME = 4.96 me.
S.DTIERRA = 22.79 me.
CR: 3491.976 km [+48U
13 10 0 10 13
3490 T- 3488224 3490
3488 — — 3488
P—
3485 3485
13 10 0 10 13
S.FIRME = 4.96 m2.
S.DTIERRA = 19.35 me.
CR: 3492.733 km 1+4 /U
13 10 0 10 13
3490 e 3490
3488 ————— 3488
3485 3485
13 10 0 10 13
S.FIRME = 4.96 m2.
S.DTIERRA = 19.86 m2.
CR: 3493.449 km [+460
13 10 0 10 13
3488 = 3488
3485 3485
13 10 0 10 13
S.FIRME = 4.96 me.
S.DTIERRA = 21.85 me.
km 1+450
CR: 34941243 10 0 10 13
3490 — T S4Bt RA— 3490
3488 — — 3488
3485 3485
13 10 0 10 13
S.FIRME = 4.96 m2.
S.DTIERRA = 23.43 me.
CR: 3494.759 km 1+44U
13 10 0 10 13
3490 = F=S4R0.568————— 3490
3488 — 3488
3485 3485
13 10 0 10 13
S.FIRME = 4.96 m2.
S.DTIERRA = 22.47 me.
CR: 3495.352 km [+430
13 10 0 10 13
3490 F=34358F2———F—— 3400
3488 > 3488
3485 3485
13 10 0 10 13
S.FIRME = 4.98 m2.
S.DTIERRA = 21.680 me.
CR: 3495.905 km [+4-°0V
13 10 0 10 13
3493 3493
3490 EF—S455+ 3490
Pl SEESEN
3488 3488
3485 3485
13 10 0 10 13
S.FIRME = 4.99 me.
S.DTIERRA = 19.78 me.
CR: 3496.417 km [+41U
13 10 0 10 13
3493 CT+ 34004 3493
3490 3490
f—/’f_,_\
3488 3488
13 10 0 10 13
S.FIRME = 5.1l me.
R 2406 S.DTIERRA = 17.42 me.
R: 3496.888
km [+400)
13 10 0 10 13
3493 CT- 3406645 3493
3490 — ————— 3490
3488 3488
13 10 0 10 13
S.FIRME = 5.78 m2.
S.DTIERRA = 13.804 me.
CR: 3497.319
km 1+380
13 10 0 10 13
3493 CT—34p+044 — 3493
3490 — 3490
3488 3488
13 10 0 10 13
S.FIRME = 5.7l me.
S.DTIERRA = 89.42 m2.
CR: 3497.708
km 1+360
13 10 0 10 13
3493 +—34p+596 — 3493
e |
3490 3490
3488 3488
13 10 0 10 13

S.FIRME = 5.88m2.
S. TERRAPLEN = 81.74 m2.
km 1+640 S.FIRME = 4.53m2.
S.DTIERRA = 18.49 m2.
20 10 0 10 18
3485 3485 km 1+81Y
3483 3483 10 o 10 13
3480 3477044 3480 3483 Fr34BHt58———r— 3483
3478 b—— | = 13478 3480 f—— 3480
3475 3475 3478 3478
20 10 0 10 18 10 0 10 13
S.FIRME = 5.19 m2. S.FIRME = 4.98 m2.
S. TERRAPLEN = 69.31 m2. S.DTIERRA= 15.14 m2.
km 1+620U km 1+80U
18 10 0 10 18 13 10 0 10 13
3485 3485 3485 3485
Y e S eTAT R T. oAbd CAC
3483 348G 3483 3483 ‘//%% 3483
3480 - 3480 3480 — 3480
3478 3478 3478 3478
18 10 0 10 18 13 10 0 10 13
S.FIRME = 4.93m2. S.FIRME = 4.99 m2.
S. TERRAPLEN = 52.4@ m2. s S.D TIERRA = 19.56 m2.
R: 3483.148
km 1+610 km 1+ /790
CR: 3486107 10 0 10 18 13 10 0 10 13
3485 3485 3485 3485
3483 T 3475760 3483 3483 |———€T-34p10e5————| 3483
3480 L 3480 3480 —— 3480
3478 3478 3478 3478
18 10 0 10 18 13 10 0 10 13
S.FIRME = 4.91 m2. S.FIRME = 4.99 m2.
S. TERRAPLEN = 38.40 m2. S.DTIERRA= 22.12 m2.
km 1+600U R assaTa km 1+ /780
CR: 3488802 10 0 10 15 13 10 0 10 15
3485 3485 3485 3485
— /
3483 CF-24Bo663 3483 3483 — e 3483
3480 ——F — 3480 3480 == 3480
3478 3478 3478 3478
15 10 0 10 15 13 10 0 10 15
S.FIRME = 4.90 m2. S.FIRME = 5.15m2.
S. TERRAPLEN = 37.76 m2. S.DTIERRA= 25.89 m2.
km 1+59U P km 1+/7 /7
CR: 3488509 10 o 10 15 13 10 o 10 15
3485 3485 3485 3485
— L
3483 34830827 — 3483 3483 ’___,,_——vti HOLTD 3483
| D —
3480 |—r— | 3480 3480 — 3480
3478 3478 3478 3478
15 10 o 10 15 13 10 o 10 15
S.FIRME = 4.98 m2. S.FIRME = 5.41m2.
S. TERRAPLEN = 28.82 m2. S.DTIERRA= 26.90 m2.
km 1+580 3485803 km 1+ /76U
CR: 3481628 10 0 10 13 13 10 0 10 15
3485 —— 3485 3485 ——— 3485
3483 AR ees - - 3483 3483 |— eF=3#ET /o4 3483
3480 |—F— 3480 3480 i 3480
3478 3478 3478 3478
15 10 0 10 13 13 10 0 10 15
S.FIRME = 4.90 m2. S.FIRME = 5.62 m2.
S. TERRAPLEN = 26.18 m2. e S.DTIERRA= 29.73 m2.
R: 3483.981
S km 1+5/7°U km 1+ /72U
15 10 0 10 13 13 10 0 10 15
3483 3483 3483 +— e — 3483
%7/ R
3480 3480 3480 3480
15 10 0 10 13 13 10 0 10 15
S.FIRME = 4.90 m2. S.FIRME = 5.78 m2.
S. TERRAPLEN = 30.26 m2. . S.DTIERRA = 32.84 m2.
3487701 km 1+56U km 1+ /740
15 10 0 10 15 13 10 0 10 15
3485 = S 3485 3485 FrB4B3553—————— 3485
3483 — 3483 3483 3483
3480 3480 3480 3480
15 10 0 10 15 13 10 0 10 15
S.FIRME = 4.90 m2.
S. TERRAPLEN = 23.33 m2. S.FIRME = 5.8 me.
km 1+550 S.DTIERRA= 3@.18 m2.
CR: 34880538 10 0 10 15 CR: 3484.370 km 1+7/30
3488 3488 13 10 0 10 15
3485 T-3480 457 1 3485 3485 3483553 —— 3485
—] PI553——
3483 3483 3483 — | 3483
3480 3480 3480 3480
13 10 0 10 15 13 10 0 10 15
S.FIRME = 4.90 m2. S.FIRME = 5.72 m2.
S. TERRAPLEN = 12.6@ m2. S.DTIERRA= 26.21 m2.
CR: 3488.421 km 1+2040U CR: 3484583 km 1+ /720
13 10 0 10 13 13 10 0 10 15
3488 3483366 3488 3485 3483443 ———— 3485
R —
3485 ——— 1 3485 3483 3483
—_— / E—
3483 3483 3480 3480
13 10 0 10 13 13 10 0 10 15
S.FIRME = 4.84 m2. S.FIRME = 5.49 m2.
e - S.DTIERRA= ©.29 m2. s ) S.DTIERRA = 13.60 m2.
R: 3488.7 R: 3484.808
S. TERRAPLEN= I m2.
RS 518 km 1+ /0
10 0 10 13 13 10 0 10 13
3485 — 13485 3483 — | 13483
3483 3483 3480 3480
10 0 10 13 13 10 0 10 13
S.FIRME = 5.39 m2.
S.FIRME =  4.88 m2. S.DTIERRA= B.52 m2.
S.DTIERRA= B6.72 m2. S. TEQ@@%ET;? gg@‘ @E
CR: 3489.188 km 1+220 CR: 3485.044 10 0 10
13 10 0 10 3485 3485
3488 3485742 3488 3483 e SabERs | 3483
3485 — 3485 3480 3480
3483 3483 3478 3478
13 10 0 10 13 10 0 10
S.FIRME = 5.87 m2.
S. TERRAPLEN = 46.87 m2.
S.FIRME = 4.96 m2. km 1+660
S.DTIERRA = 11.82 m2.
18 10 0 10 15
CR: 3489.587 km 1+210 3488nr348550% 3485
13 10 0 10 13 3483 3483
3488 3486398 3488 3480 F34poag7  ———— | 3400
—t — /
3485 e 3485 3478 3478
3483 3483 3475 3475
13 10 0 10 13 18 10 0 10 15

S.FIRME = 5.75m2.
S. TERRAPLEN = 88.30 m2. S FIRME = 4.96 m2.
km 14+960 S.DTIERRA = 34.72m2.
e 10 0 10 18 o km 2+110
48 4
13 10 0 10 15
3480 — : 3480 3488 3488
3478 T 3475 074 1 3478 3485 F34B4np7 3485
skl — N — =
3475 |——— 3475 3483 — 3483
3473 3473 3480 3480
20 10 0 10 18 13 10 0 10 15
S.FIRME = 5.75 m2.
S. TERRAPLEN = 87.72 m2.
km 1+9410 S.FIRME = 4.96 m2.
S.DTIERRA = 26.42 m2.
20 10 0 10 18
3483 3483 km 2+ 190
Pa.
3480 3480 13 10 0 10 15
3478 T 3475833 1 3478 3485 343 FEA———— 3485
- —_t
3475 | ——— 3475 3483 — 3483
3473 3473 3480 3480
20 10 0 10 18 13 10 0 10 15
S.FIRME = 5.75m2.
S. TERRAPLEN = 66.18 m2.
km 1+9°0 R 3481336 S. EITQIME = 4.96m2.
S.D TIERRA = 19.62 m2.
20 10 0 10 15
3483 roR 3480684 3483 km 2+U3V
3480 = > 3480
13 10 0 10 13
3478 3465 3478 3485 34833 5C — 3485
I — ]

3475 — 3475 3483 = 3483
3473 3473 3480 3480
20 10 0 10 15 13 10 0 10 13

S.FIRME = 5.75m2.
S. TERRAPLEN = 5@.71 m2. _
O 3481158 g EITQIMEE}QQH 4'414;921' 2
. = . mc.
CR: 3480.751 km 1+310 L P80
rs® 10 0 0 15 m
48 48
10 0 10 13
3480 S 3480 3485 e 3485
3478 — —— 1 3478 3483 ——— 3483
3475 L—— 3475 3480 3480
18 10 0 10 15 10 0 10 13
S.FIRME = 5.65m2.
S. TERRAPLEN = 37.85 m2. -
. = . mc.
CR: 3480.838 km [+31 _
S. TEQE{%PLEQ% @5;@
res'® 10 0 0 15 M
4 4
13 10 0 10 13
3480 LT 3477656~ 3480 3485 s e 3485
/”/ |-

3478 ——— 3478 3483 3483
3475 3475 3480 3480
18 10 0 10 15 13 10 0 10 13

S.FIRME = 5.43m2.
S. TERRAPLEN = 28.52 m2. S.FIRME = 4.93m2.
S.DTIERRA= 2.2 m2.
CR: 3480.942 km [+83V CR: 3480.891 -
S. TEQ&HPLE@ = @@ %
15 10 0 10 13 M
3483 3483 13 10 0 10 13
3480 CF3476074———1—| 3480 3485 3484667 3485
3478 b—I — 3478 3483 — 3483
—_———
3475 3475 3480 3480
15 10 0 10 13 13 10 0 10 13
S.FIRME = 5.6 m2.
S. TERRAPLEN = 21.49 m2. S.FIRME = 4.80 m2.
S.DTIERRA= ©.38m2.
CR: 3481.063 km [+88Y CR: 3480.802 _
S. TEQE%PLE? = @@ @
15 10 0 10 13 m
3483 3483 13 10 o 10
3480 EFBAr8A33———— 3480 3483 SR-o4Beoct— 3483
/:—/_/‘ | /
3478 3478 3480 =i 3480
3475 3475 3478 3478
15 10 0 10 13 13 10 0 10
S.FIRME = 4.93m2.
S. TERRAPLEN = 17.28 m2. S FIRME = 4.90 m2.
S. TERRAPLEN = 15.79 m2.
CR: 3481.201 km [+870 CR: 3480.721 L m P1040
15 10 0 10 13 m
3483 3483 15 10 0 10 13
3480 —— TSRS T 3480 3483 £F0dro576—— 3483
3478 ——— 3478 3480 F——— 3480
3475 3475 3478 3478
15 10 0 10 13 15 10 0 10 13
S.FIRME = 4.32 m2.
S. TERRAPLEN = 12.75 m2. S FIRME = 4.90 m2.
km 1+860 - 34806575. TERRAPLEN = 21.89 m2.
CR: 3481855 10 0 10 13 km 2+150
3483 ] 3483 15 10 0 10 13
3480 e 3480 3483 £E0470606- ] 3483
3478 —— 3478 3480 ——f———— 3480
3475 3475 3478 3478
15 10 0 10 13 15 10 0 10 13
S.FIRME = 4.91m2. S.FIRME = 4.91 m2.
S.DTIERRA= 3.0 m2. e nsoe 05. TERRAPLEN = 32.38 m2.
S. TERRAPLEN = 2. R: 3480.61
13 10 0 10 13 15 10 0 10 13
3483 3470467 3483 3483 CFSy SR 3483
3480 ———— 3480 3480 1 3480
// /;%
3478 3478 3478 3478
13 10 0 10 13 15 10 0 10 13
S.FIRME = 4.92 m2.
S.FIRME = 4.79m2. S. TERRAPLEN = 42.26 me.
S.DTIERRA= .45 m2. 4+
CR: 3481.681 M 18 10 0 10 15
3 10 0 10 3483 ——— 3483
ﬂ
3480 ——————+ 3480 3478 D EEE— 3478
3478 3478 3475 3475
13 10 0 10 18 10 0 10 15
S.FIRME = 4.94 m2.
S FIRME = 4.93m2. S. TERRAPLEN = 53.53 m2.
S.DTIERRA = 2.42 m2. Km 2400
S. TER HPLETi 8@%
CR: 3481.844 M CR: 3¢80.566 10 0 10 15
1310 0 10 13 3483 P — 3483
3483 3480476 3483 3480 EF 347535~ 3480
3480 —f——=——— 3480 3478 ——o 3478
3478 3478 3475 3475
13 10 0 10 13 18 10 0 10 15
S.FIRME = 5.73m2.
S. TERRAPLEN = 78.12 m2.
S.FIRME = 4.93m2. km 1+980Y
S.DTIERRA= 5.73m2.
S. TERRAPLEN = (& 2. 20 10 0 10 18
CR: 3482170 M T%@?% 34833780560 J—— 3483
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